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Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.
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(2)
Attempt Al questions,

Aél questions carry equal marks.
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Attempt any rwo of the following :
(a) How does ‘Knowledge’ differ from ‘Information’ ?

Explain various factors which can affect the quality

of information.

(b) Tllustrate the functioning of the Computer System

using block diagram.

(¢} What is an Operating System ? Explain four important
functions of Operating System.

frfafaa & @ € < Fifsw .
(F) ‘I, ‘g A frE v i A 7 T fafm

FITH! bt TIL HITT S GI F 0T A wWifm
T T

(") TEF MG F I FW@ T FYX 7 B

FEEW H GEE W HifA |

(M FIEH T A T oA ¥ ? UERH o ® §9R

Al Whrdl 1 TR Hife)



(3) 9991F

Attempt any two of the following :

(a) Write down relative advantages and disadvantages
of creating customized software in-house by an
organization versus getting it created by another
organization.

(b) Differentiate between Client Side Programming and

Server Side Programming,

(¢) What is Spread Sheet? How Spread Sheets can

be used for Business Applications? ’
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3.

Attempt any fwo of.the following :

(a) What is Topology ? Write down advantages and

disadvantages of STAR Topology.
(b) Distinguish between LAN, WAN and MAN.

(c) What is Broadband Communication ? How
Broadband affects the economic growth of a

country?
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Attempt any swo of the following :

(a)  What are the features of Power Point Presentation ?

How is it useful in marketing ?

() Define Distributed Database Management System.

Explain its usage giving suitable examples.
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(¢) - ‘Diffefentiate between Decision Support System and
) hﬁ@:qg‘ement Information System.
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Attempt any three of the following :

(a) Accounting Information System

(.b) Expert Systcms

(c) GSM

4 3G

(e) Relational Database Management System (RDBMS)

(7 . System Software.
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